25'-3"

81_8//

1,

8'-11"

8'-1

14 SPACES e &°

7/_0//

#

TYP>—- 15 SPACES @ 6 = 7'-6"

(J Bl
QOl—

“(TYP>

QI

14 SPACES @ o

7/

-

SOUTH
CORNER

L

5§ PANEL A PANEL B 1

(TO PILASTERD

1.

(TYP.

RAIL SECTION “A”

WEST RAILING, FACING WEST

PANEL A

RAIL SECTION

IIBII

BREAK
LINE “A”

25!_3"

7/_6//

15 SPACES @ 6~

“CTYP >

ea/(68}

T
81_1%” 81_11// 8/_8//
SPACES @ 6" = 7'-0* 15 8'-1}"

14 SPACES @ &7 7°

S5g§” <TO PILASTER PANEL A PANEL B

1,
1727 CTYP.

RAIL SECTION “A”

BREAK
LINE “A”

BRIDGE RAIL NOTES

1. ALL DIMENSIONS TO FACE OF CONCRETE UNLESS NOTED OTHERWISE.

2. RAIL POSTS SHALL BE SET NORMAL TO GRADE.

3. PAYMENT SHALL BE MADE UNDER PAY ITEM 900.640 SPECIAL PROVISION (BRIDGE RAILING, GALVANIZED METAL HAND RAILING/CONCRETE PARAPET COMBINATION).

4. REINFORCING STEEL SHALL CONFORM TO SECTION 507 FOR LEVEL II REINFORCMENT. PAYMENT SHALL BE MADE UNDER PAY ITEM SPECIAL PROVISION (BRIDGE RATLING, GALVANIZED METAL HAND RAILING/CONCRETE PARAPET COMBINATION)
5. METAL HAND RAILING, TO INCLUDE STEEL PIPES, PLATES AND HARDWARE, SHALL BE PAID FOR UNDER ITEM SPECIAL PROVISION(BRIDGE RAILING, GALVANIZED METAL HAND RAILING/CONCRETE PARAPET COMBINATION).
6. STEEL PIPES FOR POSTS, TOP AND BOTTOM RAIL AND PALINGS SHALL BE SEAMLESS, CONFORMING TO SUBSECTION 732.01.

7. STEEL FOR BASE AND ANCHORAGE PLATES SHALL CONFORM TO SUBSECTION 732.03(b).

8. HARDWARE FOR ANCHOR BOLT ASSEMBLIES SHALL CONFORM TO SUBSECTION 732.03(d).

9. 1/8" PAD SHALL CONFORM TO SUBSECTION 731.01 OR 731.02.

10. ALL EXPOSED CUT OR SHEARED EDGES OF STEEL COMPONENTS SHALL BE ROUNDED TO A 1/16" RADIUS AND BE FREE OF BURRS.

11. ALL PARTS SHALL BE GALVANIZED AFTER FABRICATION IN ACCORDANCE WITH AASHTO M 111M/M 111 (ASTM Al123), EXCEPT HARDWARE, WHICH SHALL MEET THE REQUIREMENTS OF AASHTO M 232M/M 232 (ASTM Al53).
12. ALL PARTS EXCEPT HARDWARE AND ANCHORAGE PLATES SHALL BE PAINTED BLACK (COLOR CHIP #27038).

13. RAIL POST ANCHORING NUTS SHALL BE TIGHTENED TO A SNUG FIT AND GIVEN AN ADDITIONAL ONE-EIGHTH TURN.

14. THE FABRICATOR SHALL SUBMIT FABRICATION DRAWINGS INCLUDING WELDING PROCEDURES FOR METAL HAND RAILING IN ACCORDANCE WITH SECTION- 105.

WEST RAILING, FACING WEST

RAIL SECTION

PANEL A

I/BI/

BREAK
L INE

" B /

ITEM_#: 900.640 | sHEET 1 0F 5
APPROVED BY: BRIDGE RAIL DETAILS SHEET
BRATTLEBORO BR 2000 (26)
VERMONT
R[NO. | DATE | _DESCRIPTION BY| R [NO.| DATE| DESCRIPTION __|BY
E €
v v
AT e tR TR D] _CRAWN E.P. 5/4/16
ELDERLEE.INC d i)/ 2FasRicATOR|| CHECKED | D.L. 5/4/16
’ . L
OAKS CORNERS, NEW YORK 14518 APPROVED | . :
E—Mail: dlong@elderlee.com SCALE_ | SCHEMATIC
Tel:315—-789—-6670 Fax:315-789—6615 DRAWING NO. F.R. LAFAYETTE-BATTLEBORO (26)




25'-3" -
8/_8//
8'-14° 8'-11" g'-2"
14 SPACES @ 6" = 7/-0" l——llé” 8'-1%"
- glrigls] 15 SPACES @ 6" = 7'-6" gLl ] 14 SPACES @ 6" = 7*
T HE 2TYPH-|  ==8 Mo
Ll
-z
(A4
oo
. Zz 0O
5%” (TO PILASTER) PANEL A PANEL B 1%” (TYP.)H - PANEL A
BREAK RAIL SECTION “A” RAIL SECTION “B*
/ V4
LINE 7B WEST RAILING, FACING WEST
A—=8-2 Ar—8"11 N—18"-2 26" (TYP. PILASTER) A—8"-2 A—8-11" A g-2"
[~ [e =2l [s~¢] [~ -
" - m—— ) E— —t ez ) e S N e (D) Ao ok -t s v e () — —
; ) o>y ; o=y * =% ~
PLAN VIEW OF A SECTION OF THE WEST RAIL
SOUTH CORNER
BILL OF MATERIAL
'
ITEM| QTY DESCRIPTION ASTM DESIGNATION 1/4" MIN | 1
I | S |RAIL SECTION A’ AS00/A53 Grade B/A36 1|—1/2MAX a1 1/2" .,
2 | 6 [RAIL SECTION ‘B’ AS500/A53 Grade B/A36 | (Treeee——e—m—m—— 1
3 | 1 _|RAIL SECTION "C’ AS00/A53 Grade B/A36 |  eteesweesenbesese. SCHED. 40 |_4&--_|
4 | 12 |RAIL SPLICE (I 1/2* SCHEDULE 40> AS00/A53 Grade B PIPE 16
5 | 12 |#3/8” X 1/2” SOCKET, BUTTON HEAD CAP SCREW A307 (ZINC PLATED - IMPORTS) | 07/t 'ohE IN FITE Jar. o
6 | te |POST ANCHOR PLATES, 1/8" X 7 1/2" X 7 172" A36 (FOR #3/8° X 1/2° SBHC.S) ITEM #4 P
7 | 12 |SIDE ANCHOR PLATES, 1/8” X 7 1/2" X 1'-9* A36 \ 3
8 | 12 [SIDE BASE PLATES, 1/2" X 7 1/2° X 1'=9” A36 3n_
9 [ %100 |# 5/8" X 10 FULLY THREADED ANCHOR STUDS A449 RAIL SPLICE DETAIL RAIL SPLICE ®8 16 THD.
10 | 100 [¢ 5/8* HEX JAM NUTS AS63
11 | 202 |[¢ 5/8" HEAVY HEX NUTS AS63
12 | 302 |[¢ 5/8" FLAT WASHERS F436 ITEM #: 900.640 | SHEET 2 0F 5
13 | 12 [1i/8” X 7 1/2” X 7 1/2" POST BEARING PAD AASHTO M251 APPROVED BY: BRIDGE RAIL DETAILS SHEET
14 2 |“W” PANEL TERMINAL CONNECTOR, 10 Ga. AASHTO M180 BRATTL\ElgghRngSTﬂzooome)
15 | 2 |CONNECTION PLATE W/ 1* SCHED. 40 PIPE A500/A53 Grade B/A36 o T SrE T BESERETON e e S TYa
16 | 16 | 5/8° PANEL BOLTS, NUTS A307 E E
17 | 8 |6 7/8“ X 12* FULLY THREADED ANCHOR STUDS A449 v S
18 | 16 [8 7/8" HEAVY HEX NUTS AS63 ELDERLEE INC. (DB checken | o | 54rs
19 | 16 |8 7/8“ FLAT WASHERS F436 Y/ 04KS CORNERS, zgv{’mﬁx 14578 ;’2’:%“ ST
¥ — TWO ADDITIONAL FOR Vtrons QA TESTING g aere e g DRAWING NO. F.R. LAFAYETTE-BATTLEBORO (26)

Tel:315-789-6670 Fax:315-789—-6615




- 251_3n -
8/_81
8'-13" 8’11 g'-2
1 14 SPACES @ 6" = 7'-0* | 1157 g'-13
X (TYP>1- el | gl 3 15 SPACES @ 6’ = 7'-6 gl 14 SPACES @ 6’ = 7
R B2 |15 (TYP) 8 o
7 o
T W
=z
[\ 4
[ |
Z0
S§’ <TO PILASTER> PANEL A ~hd crveo PANEL B PANEL A
RAIL SECTION “B” RAIL SECTION “A”
BREAK
EAST RAILING, FACING EAST LINE "A”
- 25'-3" -
8/_8//
8'-15" 8’11 g-2"
14 SPACES @ 6" = 7'-0" | 1157 8'-15"
ol g~ 15 SPACES @ 6" = 7'-6" gl ] 14 SPACES @ 6’ = 7
L 8’2 |8 TYP 83 - —
S§’ (TO PILASTER) ~PANEL A g aveo PANEL B PANEL A
RAIL SECTION “B* RAIL SECTION “A”
BREAK BREAK
LINE “A” EAST RAILING, FACING EAST LINE “B”
ITEM_#: 900.640 | SHEET 3 0F 5
APPROVED BY: BRIDGE RAIL DETAILS SHEET
BRATTLEBORO BR 2000 (26)
VERMONT
R|NO. [ DATE DESCRIPTION BY| R |NO.| DATE DESCRIPTION BY|
5 E
DRAWN E.P. 5/4/16
¥ ELDERLEE,INC. | CHECKED | DL 1 S/4/i6
&Y 0AKS CORNERS, NEW YORK 145 APPROVED | . :
E-Mail: dlong®elderlee.com SCALE SCHEMATIC

Tel:815—-789-6670 Fax:315-789—-6615 DRAWING NO. F.R. LAFAYETTE-BATTLEBORO (26)




Tel:315—-789-6670 Fox:315-789-6615

DRAWING NO. F.R. LAFAYETTE-BATTLEBORO (26)

30"-45"
8/~ l~——ANGLE POINT %*
1 71-34+
8'-14" 8'-11" * 4
v = e 1, r_als *. ol
14 SPACES @ 6* = 7'-0'—— —119—' 6'-0z 7'-25
gl | gln 15 SPACES @ &' = 7/-6" P 10 SPACES @ 6" = 5* 5342 13 SPACES @ 6" = &6'-6"
[ 82 |- YR =165 153 | —
v 7
I
~Z
(s’ n'4
oo
Z 0O
5%’ (TO PILASTER) PANEL A - —1,%' (TYP.) PANEL B PANEL C PANEL D
RAIL SECTION “B* RAIL SECTION “C*
BREAK// ) %— FIELD VERIFY DIMENSIONS
LINE “B EAST RAILING, FACING EAST
05 Al
3. W [%" WPS 3013 82" (TYP)—
|'4 | TYP) 7T 2
| T (DONT WELD e .
[ V‘\‘~ OVER DRAIN H A
~5/16” RAD. FOR HOLES)
GALYV DRAIN HOLES \ |
{% (BOTH SIDES) )( \\ ' \\
g2’ SCHED. 40 PIPE ' % | %*— FIELD VERIFY DIMENSIONS
2'-1%“ \m 1/2” (TYP. - FOR GALV. PURPOSE) * e
A -2 | Apm—og'-11" | A—6-0 1/4" Q/\/ !
_ el D I > 2 LS
~g4’ SCHED. 40 PIPE : ) i e b o
7 PANEL “A” PANEL “B” PANEL “C”
1'_93" \\¢ 1 SOLID BAR TYP, Wapif'm SOUTH PLAN VIEW OF A SECTION OF THE EAST RAIL
|
~_]
ah J \
T 1 ‘g} _1Z" ( 3
SZ" -2-" | n i 8 1 BOM ITEM 11 ! 1
812 4h | M 'g" BEARING PAD
7 T i/ A i 1 I
\
~BOM ITEM 9 ITEM #: 900.640 ISHEET 4 0F5
7" BOM ITEM 12 % APPROVED BY: BRIDGE RAIL DETAILS SHEET
BRATTLEBORO BR 2000 (26)
VERMONT
ﬁ K’—BDM ITEM 10 R[NO. | DATE| DESCRIPTION BY| R [NO.| DATE |  DESCRIPTION __|BY|
E E
~B0OM ITEM 11 v v -
A > ELDERLEE,INC. A\ “)ég\%%lyﬂ(%%l gl?ég{(réo SE 5/4/16
VIEW A-A  rostDETAL A ous cos, oy o 14513 e




0=

ITEM #8 10"
5" "
o 73 17" (TYP)
] 1 1" THRU,
=T . | [|(GALV. DRAIN)
%i e r——— H o\ wPs 3013
1'-9" \ N 3/16" )/ o
PART IS
SYMETRICAL BN BOM ITEM #10 1"_‘ i
2
POST BASE PLATE
urs s ) e BOM ITEM #8~ e 72"‘
Q_—" T 2 1 6 " 1
R 6_u PRl ) 1 P
1. \¢1 172" \Q% THRU (2x) -BOM ITEM #7 1 é & 1 & & ’ |
2 SCHED. 40 PIPE (GALV DRAIN) 1 @4!!_
SIDE BASE PLATE BOM ITEM #11 641," T 67"
1 173" 1} 1l 175
ITEM #7 1, 1. 11, 1.1 11
———3—61 A 3 D16 (4x)Y ITEM #13 8 16 (4x)/ ITEM #6
11 (TYP)—_SZ'- BOM ITEM #12 POST BEARING PAD POST ANCHORAGE PLATE
4 J:-! - SIDE PLATE CONNECTION DETAIL
[l v % L ® lad A
A K \ | T—T .
PART IS \J 101" CONNECTION PLATE DETAIL 101 vo J—
SYMETRICAL 2 LA
/\ 91" 1“ 6" a1" (5)(2) :
A kj 2 2 - 2"{—
1 . ]
" 1'-4—" I éu l #29/32 x 3* SLOT ¢8x ITEM #14
o¢_ : nr & e B =
X 10 Ga. I BG-203AR
T \<) e i OB | 4 & ITEM #: 900.640 [sHEET 50F 5
_ 2 :
& ﬁ} : 1,_0%" _@i APPROVED BY BR]D(;EWELASIE%%:ZAO]@‘ SHEET
@11_1_.' (4X)/ 1 SCHED., 40 PIPE_/ i \_Qj ENO. DATE DESCRIPTION BY E NO.[ DATE DESCRIPTION | BY]
TYPY ITEM #15 e G
SIDE ANCHORAGE PLATE 174 /et PLATE 40 0“353’?%%{{;{‘2%{;“” 12'2'353“5“’ SoHEwATE




WELDING PROCEDURE SPECIFICATION

Material Specification ASTM-A500-A53-GRADE B TO A36
Welding Process FCAW

Manual or Machine SEMAUTOMATIC

Position of Welding 5G

Filler Metal Specification A5.20

Filler Metal Classification E71T-1/T-1M ESAB DUAL SHIELD 7000

Flux N/A

Shielding Gas CO2 Dew Point -40DEGF FLOW RATE 50 CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment PER D1.1

Preheat and Interpass Temperature PER D1.1

Postheat Temperature NONE

Heat Input Min Max

' WELDING PROCEDURE

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 .035 110 21 6IPM
Variable LIMITS 121 23 7
TO TO TO
99 19 5
3/167

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3013 Contractor Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Date 6/21/2012

Form llI-2



WELDING PROCEDURE SPECIFICATION

Material Specification ASTM-A500-A53-GRADE B TO A36
Welding Process FCAW

Manual or Machine SEMAUTOMATIC

Position of Welding 5G

Filler Metal Specification A5.20

Filler Metal Classification E71T-1/T-1M ESAB DUAL SHIELD 7000

Flux N/A

Shielding Gas CO2 Dew Point -40DEGF  FLOW RATE 50 CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment PER D1.1

Preheat and Interpass Temperature PER D1.1

Postheat Temperature NONE

Heat Input Min Max

' WELDING PROCEDURE

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 .035 110 21 6IPM
Variable LIMITS 121 23 7
TO TO TO
99 19 5
1/4"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3015 Contractor  Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT
Date 12/5/2012

Form Ill-2

Form IlI-2-Sample Welding Procedure Specification



